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Use BLACK FINE TIP BALL PEN only. Use of pencil is not allowed.

Write your Roll number on the OMR answer-sheet and also on the question-booklet only in the
space provided for the purpose and at no other place in the question booklets and Answer-sheet
Enter the Question Booklet Set and Number on the OMR Answer-sheet and also darken the
corresponding bubbles with BLACK FINE TIP BALL PEN.

Do not put any marks anywhere in the Question booklet /on the OMR Answer-sheet.

There are 50 objective type questions in all of 1 Mark each. Before attempting the questions,
check that the Question-booklet is complete. In case any question/part of question or page is
missing, inform the Centre Superintendent within 5 minutes of the start of the examination. After
that no claim will be entertained.

Each question is followed by four alternative responses listed as A), B), C) and D) out of
which only one is correct / most correct. In case, all the ovals are left blank, there will be
deduction of marks @ 0.25 mark for each such unattempted question. Fifth oval 'E'
(introduced for security purpose) is to be darkened in case you do not want to attempt the
question to avoid negative marking.

To open the gquestion booklet, remove the seal gently when asked to do so. Handover the OMR
Answer-sheet to the officer on duty on the completion of the time before you leave the
examination hall.

The candidates are permitted to carry his/her question booklet after completion of the
examination but OMR Sheets are compulsory required to be deposited with the invigilator.
A candidate who create disturbance of any kind or changes his/her seat or is found in possession
of any paper possibility of any assistance to him/her or unfair means will be expelled from the
examination by the Centre superintendent/Observer, whose decision shall be final. (“Expulsion”
for this purpose would mean cancellation of the entire examination of the candidate).

THE CANDIDATES ARE NOT PERMITTED TO CARRY ANY TELECOMMUNICATIION
EQUIPMENT SUCH AS WATCH, CELLULAR PHONE, WIRELESS SET, SCANNER ETC.
INSIDE THE EXAMINATION HALL.
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The candidates will not be allowed tc leave the examination hall during the examination.
Borrowing any material is not allowed.

The answer-sheet is designed for Computer evaluation. If the instructions are not followed
properly. the candidate alone shall be responsible for the resultant loss.

Smoking/Refreshment shall not be allowed in the Entrance Test Centre/Hall.

Male candidates shall affix their Left Thumb Impression (LTI) while Female candidates shall affix
Right Thumb Impression (RTI) at the prescribed place on the OMR answer sheet, Question
Booklet and attendance sheet. The Centre superintendent shall also obtain and retain it for
record.

The candidate must fill both the question booklet number and OMR answer sheet number on the
attendance sheet.

No candidate shall be allowed to leave the centre before 01:00 PM.



Direction (Ques 1 to Ques 4): The following pie-chart
shows the percentage distribution of the
expenditure incurred in publishing a book. Study the
pie-chart and the answer the questions based on it.
Various Expenditures (in percentage) Incurred in

Publishing a Book

Promotion
Cost, 10%

Printing

Transportal

Binding.
20%

Paper Cost,
25%

1. If for a certain quantity of books, the publisher has
to pay Rs. 30,600 as printing cost, then what will be
amount of royalty to be paid for these books?

a) Rs. 18,450 b) Rs. 21,200
c) Rs. 22,950 d) Rs. 26,150

2. What is the central angle of the sector corresponding
to the expenditure incurred on Royalty?
a) 15° - b) 24°
c) 48° d) 54°

3. The price of the book is marked 20% above the C.P. If
the marked price of the book is Rs. 180, then what
is the cost of the paper used in a single copy of the
book?

a) Rs. 36 b) Rs. 37.50
c) Rs. 42 d) Rs. 44.25

4. If 5500 copies are published and the transportation
cost on them amounts to Rs. 82500, then what
should be the selling price of the book so that the
publisher can earn a profit of 25%7?

a) Rs. 187.50 b) Rs. 191.50
¢) Rs. 175 d) Rs. 180

S, ABCDEFGHIJKLMNOPQRSTUVWXYZ
If the second half of the English alphabet is reversed
then which letter will be 4th to the right of 10th
letter from the right?
a)R bju
T d) S

6. Complete the series:
FAG, GAF, HAI, IAH, _
a) HAK b) HAL
c) JAl d) JAK

7. Look carefully at the sequence of symbols to find the

pattern. Select correct pattern.

O Al ag@alA -

a)1 b) 2
)3 d)4

8. Figure out the relationship in a given question:
Cup is to coffee as bowl is to
a) Dish b) Soup
c) Food d) Spoon

Direction (Ques 9 to Ques 10): In each guestfon below
are given two statements followed by two
conclusions numbered | and Il. You have to take the
given two statements to be true even if they seem
to be at variance from commonly known facts. Read
the conclusion and then decide which of the given
conclusions logically follows from the two given

statements, disregarding commonly known facts.



9. Statements: All bags are cakes. All lamps are cakes.
Conclusions:
1. Some lamps are bags.
2. Nolampis bag.
a) Only conclusion | follows
b) Only conclusion Il follows
c) Either | or Il follows

d) Neither | nor Il follows

10. Statements: All mangoes are golden in colour. No
golden-coloured things are cheap.
Conclusions:
1. All mangoes are cheap.
2. Golden-coloured mangoes are not cheap.
a) Only conclusion | follows
b) Only conclusion Il follows
c) Either | or Il follows

d) Neither | nor Il follows

11. Which among the following key is used for checking
grammar and spelling?
a) F7 b) F3
¢) F9 d) F5
12. An Autoresponder is a on mail server that
automatically replies to e-mails?
a) command b) Single instruction
c) Program d) None of these
13. BSNL, Reliance, Shaw cable, AOL, Tata Indicom all
can be kept in which one of the following groups?
a) ISP b) ISDN
c) IRC d) lcons

14. What is the full form of W3C?
a) World Wide Web Command
b) World Wide Web Company
c) World Wide Web Center
d) World Wide Web Consartium

15. Which of the following can change the sequence of
instructions to be fetched by the processor?
a) Jumps
b) Subroutine Calls
c) Returns
d) All of the above

16. A computer cannot boot if it does not have which
of the following?
a) Assembler b) Operating System
c) Compiler d) None of these
17. Which of the following is the ability of a system to
jump directly to the requested data?
a) Random Access
b) Sequential Access
c) Quick Access

d) All of the Above

18. In which of the following light produces image focus
in front of the retina?
a) Myopia b) Presbyopia
¢) Hyperopia d) Hypertropia
19. In which parts of the body glycogen is stored
mainly?
a) cartilages & bones
b) liver and muscles
c) Spleen

d) Lungs

20. Amravati Reservoir is located in which national park
in India?
a) Mudumalai National Park
b) Pampadum Shola National Park
¢) Indira Gandhi Wildlife Sanctuary and National
Park

d) None of these



21. Which among following is NOT an oil producing
field?
a) Bombay high b) Digboi

¢) Ankaleshwar d) Jamnagar

22 Who wrote ‘Indian War of Independence, 1857"?
a) R.C Majumdar b) S.B. Chaudhary

c) V.D. Savarkar d) S.N. Sen

23. Which of the following country observes its
foundation day on which India observes its republic

day?
a) Australia b) UK
c) US d) Russia

24. Who introduced the local self-government in India?
b) Lord Curzon
d) Lord Ripon

a) Lord Lytton
c) Lord Elgin-II

25. Sukhbir Singh Gill, who passed away recently, was
assaciated with which sports?

b) Hockey

d) Chess

a) Football
c) Cricket

26. Which three Indian Navy ships were
decommissioned after 40 years of service in January
20242
a) INS Cheetah, Guldar and Kumbhir
b) INS Rajput, Satpura and Khanderi
¢) INS Vikrant, Sahyadri and Arihant
d) INS Shivalik, Karanj and Vela

27. What is the name of the Sikkim's first railway
station, inaugurated by Prime Minister of India in
2024?

a) Gangtok railway station
b) Namchi railway station
c) Rangpo railway station

d) Pelling railway station

28. Which country got top global remittances of 14.3%
in 20247
a) China b) India
c) Russia d) Bangladesh

29. Which military operation led to Goa’s liberation?
a) Operation Meghdoot
b) Operation Vijay
c) Operation Trident

d) None of these

30. Which is the seventh planet from the Sun?
a) Uranus b) Pluto
c) Neptune d) Saturn

31. Fill in the blank with suitable option: This is the girl

___Father is a scientist.

a) whose b) who
c) whom d) None of these

32. Select the suitable option that represents the
sentence in one word:
A person who is indifferent to pains and pleasure
a) Sadist b) Psychiatrist
c) Aristocrat d) Stoic

33. Which is the synonym of “embark”?
a) conclude b) begin
c) delay d) cease



34, In the following question choose the word which is
the exact OPPOSITE of “COMMOSSIONED"

b) Closed

d) Finished

a) Started

¢) Terminated

35, Fill in the blank with suitable option:
The movie was so boring that I fell
a) sleep b) slept
c) asleep d) sleeping

36. Fill in the blank with suitable option: Please pass

the plate.

a)my b) myself
c) mine d) me

37. Fill in the blank with suitable option:

She to the park every Sunday.
a) go b) is going
c) goes d) went

38. Fill in the blank with suitable option:

The Taj Mahal so beautiful!
a) looks b) looking
c) has look d) look

Direction (Ques 39 to Ques 40): In questions below,
each passage consists of six sentences. The first and
sixth sentence are given in the beginning. The
middle four sentences in each have been removed
and jumbled up. These are labelled as P, Q, R and S.
Find out the proper order for the four sentences.

39.S,: In the middle of one side of the square  sits
the Chairman of the committee, the most
important person in the room.

P: For a committee is not just a mere
collection of individuals.
Q: On him rests much of the responsibility ~ for the

success or failure of the committee.

R: While this is happening, we have an
opportunity to get the 'feel’ of this
committee.
S: As the meeting opens, he runs briskly
through a number of formalities.
S:: From the moment its members meet, it begins
to have a sort nebulous life of its own.

The Proper sequence should be:

a) RSQP b) PQRS
¢) PRSQ d) QSRP

40. S;: Calcutta unlike other cities kept its trams.
P: As a result there horrendous congestion.
Q: It was going to be the first in South Asia.

R: They run down the centre of the road
S: To ease in the city decided to build an
underground railway line.

Se: The foundation stone was laid in 1972.

The Proper sequence should be:
a) PQSR b) RPSQ
c) PSQR d) SQRP

41. In book keeping, what is a “credit note”?
a) A document issued when receiving payment in
cash.
b) A document issued when returning goods to a
supplier.
¢) A document signed while placing an order.
d) None of these

42.The term "ABC analysis” in materials management
is associated with
a) Inventory classification
b) Employee performance evaluation
c) Quality control methods

d) Project management techniques



43. The Economic Order Quantity (EOQ) model is used

to determine

a) Optimal order quantity

b) Maximum inventory levels
¢) Minimum reorder point

d) None of these

44. Which of the following is a disadvantage of holding

excess inventory?

a) Increased stockouts

b) Improved customer satisfaction
¢) Lower obsolescence risk

d) Higher carrying costs

45. The “bullwhip effect” in supply chain management

is related to

a) Efficient inventory management
b) Excessive demand variability

¢) Just — In — Time (JIT) Systems

d) Low reorder point strategies

46. Vendor — Managed Inventory (VMI) is a

collaboration where
a) Customers manage suppliers’ inventory

b) Suppliers manage customers’ inventory

¢) Both customers and suppliers independently

manage inventory

d) Inventory is not managed by either party.

ok kR R KKK

47. Which of the following is a key component of the

supply chain?
a) Marketing b) Finance
c) Logistics d) None of these

48. Which accounting term refers to goods damaged in

transit?

a) Depreciation
b) Write off

¢) Shrinkage

d) Obsolescence

49. Which factor most affects the reorder point in

inventory management?
a) Marketing budget

b) Employee count

c) Storage space

d) Supplier reliability

50. What does the acronym “SCM” stand for?

a) System Control Management
b) Sales and Customer Management
c) Supply Chain Management

d) Service Coordination Management

Ak R R KRR



ANSWER KEY

Recruitment test conducted on 23/01/2025 for post of Store Keeper under
BFUHS, Faridkot

1 c 26 A
2 b 27 c
3 8 28 B
4 A 29 B
5 b 30 A
6 D 31 A
7 C 32 D
8 B 33 B
9 c 34 c
10 B 35 c
11 A 36 D
12 c 37 c
13 A 38 A
14 b 39 b
15 b 40 B
16 B 41 B
17 A 42 A
18 A 43 A
19 B 44 D
20 c 45 B
21 D 46 B
22 c 47 c
23 A 48 c
24 b 49 b
25 5 50 c




